


DELHI PUBLIC SCHOOL JAMMU
ASSIGNMENT-I
CLASS: XI SUBJECT: GEOGRAPHY
Q1. Name the two tributaries which join to form river Ganga.

Q2. Name the highest peak of southern India.

Q3. Which of the following longitudes is the standard meridian of India?
[a16330E [b] 7630E [c]8230E[d]9430E

Q4. Why is there time difference of nearly two hours between the western & the

Eastern most parts of India?

Q5.Name the two important lakes of the Kashmir Himalayas.

Q6.Which of the following rivers flow through a rift valley:

[iINarmada [ii] Chenab [iii]Godavari [iv]Yamuna

Q7.Which one of the following states of India have neither the international
boundary nor a coastline:

[i]Gujarat [ii] Bihar [iii] Rajasthan [iv]Madhya
Pradesh

Q8.[i]Distinguish between eastern & western coasts.[4 points]
[ii] What do you mean by river basin?
[iii]With the help of a diagram explain dendritic pattern of drainage.

Q9. Where in India will you find a cold desert? Name two important
ranges of this region.

Q10.Describe the importance of India in the Eastern world.

Q11.Make a comparison of the Northern Mountains and the Northern
plains of India in detail.

Q12. Make a comparison of the eastern coastal plain and the Western
coastal plain of India in detail.




DELHI PUBLIC SCHOOL JAMMU
ASSIGNMENT-II
CLASS: XI SUBJECT: GEOGRAPHY

Q1. [i] Discuss important characteristics of the troposphere.
[iilWhat do you mean by terrestrial radiation?
Q2. [I] Discuss any two human & two natural causes of flood.

[ii]Name the two districts of Rajasthan which fall under Extreme Drough Affected
Areas .

Q3.Explain the following process of weathering:

[ilcarbonation [ii] expansion & contraction due to temperature
changes

Q4. [i] Discuss the significance of ozone in the atmosphere.
[ii]Discuss any four effects of global warming.

Q5. Discuss the three stages involved in disaster mitigation & management.
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